Questions? Call: 1-2800-210-1053

© Series XSGV-L
Class |, Group D, Division 1, Submersible Grinder

2HP, 3450RPM

www.cranepumps.com

BARNES * PROSSER - CROWN SERVICE PARTS

MODEL PART NO.

XSGV2022L 127325

XSGV2062L 127326

XSGV2032L 127327

XSGV2042L 127328

XSGV2052L 127329

ICOntinued >
SECTION 3C
CRANE PUMPS & SYSTEMS S
® DATE 8/09

A Crane Co. Company  USA: (937) 778-8947 - Canada: (905) 457-6223 - International: (937) 615-3598


Manufacturer's Edge
Draft

https://www.pumpcatalog.com/barnes/
https://www.pumpcatalog.com/barnes/xsgv-series/xsgv2042l/
https://www.pumpcatalog.com/barnes/xsgv-series/xsgv2022l/
https://www.pumpcatalog.com/barnes/xsgv-series/xsgv2062l/
https://www.pumpcatalog.com/barnes/xsgv-series/xsgv2032l/
https://www.pumpcatalog.com/barnes/xsgv-series/xsgv2052l/

Series XSGV-L ®
Class |, Group D, Division 1, Submersible Grinder

2HP, 3450RPM

www.cranepumps.com

BARNES * PROSSER - CROWN SERVICE PARTS

PARTS KITS
Cutter Kit ......cooerrrvrvvneeeenn. P/N-085226 (+)3,4,6,7,8,9,10, 12
Tools: Seal Pusher........... P/N- TL-21360
Bullet........ccceveeeeee P/N- TL-21375
PARTS LIST - Standard
ITEM QTY PARTNO. DESCRIPTION
1 1 067561 Volute (Standard)
102795 (OPTIONAL) Moveable Fitting
2 4 018925 Stud 5/16-18 x 2.25 Ig Stainless
3 4 15-19-1 + Hex Nut 5/16-18 Stainless
4 4 026322 + Lockwasher 5/16 Stainless
5 1 067564 Square Ring
6 1 070704 + Flat Hd. Cap Screw  1/4-20 x .75 Ig Stainless
7 1 067556 +  Washer Stainless
8 1 082088 + Radial Cutter
9 1 082085 + Shredding Ring
10 3 067569 + Flat Hd. Cap Screw  #10-24 x 3/4 Ig Stainless
11 1 067554 Throat
12 2 016079 +  Shim (as required) .010”
13 1 067552 Impeller, Bronze 5.62” Dia., (STD)
067552TD 5.00” Dia.
067552TE 4.88” Dia.
067552TF 4.75” Dia.
067552TG 4.62” Dia.
067552TH 4.50” Dia.
067552TJ 4.38” Dia.
067552TK 4.25” Dia.
067552TL 4.12” Dia.
067552TM 4.00” Dia.
067552TN 3.88” Dia.
067552TP 3.75” Dia.
067552TR 3.62" Dia.
067552TS 3.50” Dia.
14 1 082134 Lifting Handle
15 2 1-130-1 Hex Hd. Cap Screw 5/16-18 x 1.50 Ig Stainless
16 I Motor Assy--(Includes: Motor, 30 ft. Cable, C/C/B Inner & Outer Seals )
085658 2HP, 230V, 1PH--XSGV2022L
085656 2HP, 200V, 3PH--XSGV2062L
085654 2HP, 230V, 3PH--XSGV2032L
085652 2HP, 460V, 3PH--XSGV2042L
17 1 067562 Outer Shaft Seal (Standard)  Carbon/Ceramic/Buna-N
067562SB Tungsten/Tungsten/Buna-N
067562SD Silicon/Silicon/Buna-N
067562SF Carbon/Ceramic/Viton®
067562SH Tungsten/Tungsten/Viton®
067562SK Silicon/Silicon/Viton®
Order Online: www.PumpCatalog.com
END

oAGE " 2 CRANE | PUMPS & SYSTEMS

DATE 2/19

A Crane Co. Company  USA: (937) 778-8947 - Canada: (905) 457-6223 - International: (937) 615-3598


Manufacturer's Edge
Draft

https://www.pumpcatalog.com/barnes/
https://www.pumpcatalog.com/barnes/parts-series/085226/
https://www.pumpcatalog.com/barnes/parts-series/tl-21360/
https://www.pumpcatalog.com/barnes/parts-series/tl-21375/



